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The figures in the margin indicate full marks.
Each question carries 2 marks.
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1. Which one of the following gases is most abundant in atmosphere?
(A) Methane
(B) Nitrogen
(C) C.E.C.
(D) Oxygen
1. SETRe (I a5 ST AL @ AfIce sivex 7 e
(A) frcas
(B) SRLGICE
(C) Praz.f
(D) SIfSCe
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2. The main source of oxygen in atmosphere is —
(A) Respiration
(B) Excretion
(C) Photosynthesis
(D) None of the above

2. JYNSTE SRS JeT T 7o —
(A) =7
(B) o
(C) AT
(D) Toare @Iae w

3. What is universal solvent?
(A) Water
(B) Alcohol
(C) Fat
(D) Petroleum

3. RERS 52
(A) &1
(B) SUIEIIEe
(C) cwg smidf
(D) 4ffter et
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4. Who is associated with the ‘Chipko Movement’?
(A) Kiran Bedi
(B) S. L. Bahuguna
(C) Medha Patkar
(D) None of them

4. ‘oA SR -G A (F IS 2
(A) &z @
(B) @, @&, I=aell
(C) &l M
(D) 40 & 7

5. Jaldapara is famous for the conservation of —
(A) Tiger
(B) Elephant
(C) Cow
(D) Rhinoceros

5. fosfefie @I A G Temieiiel Kere 2
(A)
(B) zifs
(C) alse
(D) e
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6. The sunlight provides us —
(A) Vitamin K
(B) Vitamin D
(C) Vitamin A
(D) Vitamin C

6. AR S (7 —
(A) Feoifm K
(B) febifd D
(C) feoifim A
(D) feBifsm C

7. Mars is a —
(A) Planet
(B) Galaxy
(C) Star
(D) None of these

7. Wl 2o G —
N
(B) ==
(C) =g

(D) @ICAIDE =
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8. Full form of WWEF —
(A) World wide Football
(B) World wide Foundation
(C) World wildlife Fund
(D) None of these

8. ©ITL.aT-«F [t AT 7o —
(A) GG STTT Foae1
(B) €3S €T FIGTTH
(C) TS €T T TS

(D) @ICAIDE =

9. Quinine is produced from —
(A) Aconite plant
(B) Cinchona plant
(C) Mango plant
(D) Artemisia plant

9. (I NMZ (ATF PE2A 2NN AR 2
(A) UG
(B) Frewr
(C) =%
(D) wesff
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10. Earthquake is measured by —
(A) Barometer
(B) Thermometer
(C) Seismograph
(D) None of these

10. Sl sifssl s &2 —
(A) ARG
(B) GG
(C) Prae
(D) @A T

11. Basic element of Bio-Gas —
(A) Methane
(B) Ammonia
(C) Hydrogen
(D) Neon

11. ACAANER dw SAmE —
(A) frces
(B) Syt
(C) 2ErgICEs
(D) fes
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12. Who coined the term ‘Ecosystem’ —
(A) A. G Tansley
(B) Charles Darwin
(C) E. Haeckel
(D) E. O. Wilson

12. T FAMH e_REF 267 —
(A) @. & S=ife
(B) BIFFT ©wITE
(C) 3. @
(D) 3. 8. TZEPA

13. Acid rain is caused by —
(A) Sulphur dioxide
(B) Carbon dioxide
(C) Mercuric oxide

(D) None of the above

13. wpifre g FEd 251 —
(A) AT TizSHTG
(B) T ©i2 SHHzw
(C) TRFeRT THze

(D) TItFT (FIAIDE T
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14. Global Warming is mainly caused by —
(A) CO,
(B) Temperature
©) 0O,
(D) Halogens

14, R-CwIRCR SET T 75 —
(A) CO,
(B) wreriat
(©) O,
(D) ZrCeTCe

15. Which one of the following is a water-borne disease —
(A) Small pox
(B) Cholera
(C) Influenza
(D) Diabetes

15. SI67 (@INT SerRifRe @l —
(A) T 23
(B) =t

(C) Tgezen
(D) ©RIEG
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16. The earth receives major energy from —
(A) Moon
(B) Sun
(C) Mars
(D) None of these

16. 72t eidie =if& em I —
(A) B (AP
(B) 7 cF
(C) ot &7 (AT
(D) @A T

17. Which of the following is a cause of environmental pollution?
(A) Industrialisation
(B) Tree plantation
(C) Water preservation

(D) None of these

17. oa (SN 2IFRC qacers el 2
(A) M@=
(B) FFC=A
(C) &eT M=
(D) EIHE w7
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18.

18.

19.

19.

Silent valley lies in the state of —
(A) Bihar
(B) Kerala
(C) Tamil Nadu

(D) Goa

AT Chifel SRFS (@ AT —
(A) RzE=

(B) et

(C) wifsErrg

(D) camstt

The name of the Gas causes the Bhupal Gas Tragedy is —
(A) MIC
(B) FIT
(C) TIT
(D) TIC

oIS 93T YO Sy WIS IR TN 7 —
(A) MIC
(B) FIT
(C) TIT
(D) TIC

Page : 10 of 11



20. The earth Summit organized in —
(A) 1970
B) 1972
(C) 1982
(D) 1992

20. P AT SIS 20 —
(A) 1970
(B) 1972
(C) 1982
(D) 1992
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